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PRACTICE PAPER

Q1. TeaTadt orT ekt g oy & wger
ST

(a) TTHAHIHT GRT

(b) STEET g

OEEEREY

(d) fewarrdt grr

Q2. Frafearfaa # & wiv-ar ga arfiren
AT B2

(a) &€

(b) et firgt

(c) Hiet

(d) e

Q3. d 1 A AVHT | = T8T IS SATH
ST S HHL T TAI HIAT & A FD Q0T
q*H

(a) HATE 1 AR 3tfE o w8 1 Blohe gt
ST kTl THTATTSTA Tl oL dTd|

(b) T F A TeF IS B i SHIC
TET T {07k i WX STEAET & STl 2

(c) TSR et AT Teehier HpT=rd e
T

(d) AT Tt ohi TehTet SETH Tal L
T

Q4. aTg | weshi fohehe afet ht Frer &Y
SATEAT hY AT TR T &

(a) T Y foum & e aREde & TR T
(b) AT T ICATTHT o STUR T

(c) Ta ETT 9T fohT 7T &t o SATER T
(d) ST o ST o TR T

Q5. vitaehTeT ¥ Ueh HIST ST <Y ST0erT
Y gt SRSl g STferes TRA ol T
ek 82

(a)'ﬁﬁ?ﬁ‘cﬁnﬁﬁ 31fork W1 2 STt € 37
ST % el T kel &

(b) 31 FHIST % sfier ATF hil e Farrerhos &7
T Lt ®

(c) 1 FHHISHT o st oy <h1 o Uelt e o
| 1 HAT R

(d) AT ot ferferor 1 grar

Q6. gt & ATYHSHA i -1 UT
Yfeat AT @ ATaw gealt o I8 W et
AT ?

(a) AFTHSA
(b) GHAIHST
(c) HETHSA
(d) sfedea

Q7. eafy T TR Tehet
(a) AT

OEENE

() IT &

(d) Fafaa

Q8. Ueh WIST AT | UhTIT AT sl
uftafda ferar s @

(a) Rafoet St &

(b) TETATE Selt 7

(c) ZoHT Soll A

(d) forgga =it #

Q9. quwT Y srfereeramoft £ STt 7, s
ATIAVEEA T &1 ©

(a) HEHT §TE ST

(b) SHHIT: 5

(c) TEHT & &I ST

(d) SRUST: H & ST

Q10. foret st @ 7w €9 & GO
T YUTT Hel ORI (RIVTT) =ITer o o
o foTu T ST =R

(a) ST BT TS Trer frer of

(b) 319 T FWI3T

(c) 3T BT ST AT 3T HeAT &

(d) BT FYL ISTHL &S ST

Q11. Fr=fafaa & & form @me fuve
F Fiferam-3 s an # HisE B, st
T Ueh HTS & §72

(a) 7oAl

(b) ==

() R

(CRUES

Q12. T ueh fagor g
(a) AT IS AT T
(b) ST ST gH T
OEEES K]

(d) o3 3R HIEL A

Q13. geragiieh aRae H et st ST’
& o foru e o s-ar uftaer
ufertie gan fRarSmar g 2

(a) Sfcrer

(b) arfear

(c) Shea

RIS

Q14. 3D Tohed J@ o T wae woat 7
TATE

(a) T wreht o=

(b) A T

(c) ATqA A

(CORISUES

Q15. feor wrfer & w1 T et R 3T
Tk STcTeh 118 Y 2T § HUT ;0% thehdT &
g et 2

(a) 3Hh I

(b) 3T T

(c)wa?%ﬁlff

(d) ST A H

Q16. arga a1 # fafee wfshan 22
(a) BT

(b) ST IT9EA

(c) saur

(d) STETehTHTIT

Q17. freirare - sfraR v afie &
(a) Sl T

(b) IR T

(c) A AT H

(d) ST G H

Q18. It wF <hl I % WA TS &
(a) 3T T3

(b) T XA

(c) R =t wvaran

(d) 9ITe T Sfes Te=rar

Q19. ATAT AU T ki fAAferRaa o
¥ forereh RereTTs &RAT Wevie ad gu Ifere
Y TEAT hT ATHAT ShEAT UST

(a) Teie TR

(b) fifel wiict gum

(c) TTEH HHITH

(d) forew e e
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Q20. e % ¢ I T &
(a) I A

(b) ATATER q

(c) FRIHSA T

(d) FTRT A

Q21. Fr=faRaa & & w7 ar wRdT H
# fre SeuTEeRAT T HRUT R §

(a) TEHRT Tt

(b) ST7aTH e i Suetstrar

(c) ST SufrTS 37 foge

(d) Forar ST foroom it s1eq glawrg

Q22. Taaar st fora TR Hifera feraT
AT HHAT 8?2

(a) S BT

OIEIEER

(c) TR I

(d) THAT 5

Q23. foret Sa-=ifires & fermes T g/
rqEe sht UfshaT i fervam (wream)
FHEAE?

(a) ST (heferee)

(b) SfEFTS (TTTEH)

(¢) TFHTS-ROTET (FISUI)

(d) 7T o1 (ShT deahar)

Q24. WS T ATHT 6 YR (IIHT) T
foraTEaT ® 2

(a) 10 Toum. foreft. 6. Saa™

(b) 120-150 formm. S,

(c) 80-90 feram. S,

(d) 150-200 formm. S,

Q25. foret wroFe # Srg Tt &
I et o e el B 82

(a) Tfer fore

(b) it fora

(c) ATt fewn

(d) T feen

Q26. fréw: fe g o faweai B 9
GESIf-E1d HEAT J1d shifoTa:
4:12::5:7

(a) 25

(b) 20
(c) 22
(d) 30

Q27. Fdwr: = 2oft 7 W e J1a
A

36, 34, 30, 28, 24, ?

(a)20

(b) 26

(c) 22

(d)23

Q28. afg sftd FeT & Tge arer i W
oT, T A a7 el T 3T &7 & ffee o
- f&7 g

(a) o

(b) THER

(c) TEaX

(CORUBELS

Q29. 3w : 51 &R § we v1eg fomm
1 3R TT TR 158 3 ¥ & fIg w3
feu TTu S7erT o TRt 390 ¥ Aol T T8
1 T o1 W @, 38

16. REMEMBERING

(A) NEGRO

(b) AGREE

(c) RAIN

(d) GREEN

Q30. e e fiu e fawreai &
GreIf-erd Hog 1 hifs

T : U HrEeT

(a) 9

(b) 9T

(c) FIFAT

)

Q31. = few v fomreat 7 & fomw v1sg &1
I FIforR

(a) S

(b) ST

OS]

(d) FT&d

Q32. few: e e g o &
e 7eR T shiforr
DDW :ECV ::FBU:?

(A) GAW
(B) GAV
(C) VAG
(D) GAT

Q33. few: fer e fawreai g &
TS 3TeR JTa i

BEHK : YVSP :: DGJM : ?

(A) JGDA

(b) ROLI

(c) WTQN

(d) ZWTQ

Q34. fr=r feu e fosredt # @ fomm w1sg i
EREEAISD)

(a BEHLN

() EILSZ

(C) DKQVZ

(d ACIKT.

Q35. e fer fiu e faspeai d &
GreIfeerd 3T&T T hiforr

HOUSE : GNTRD : : ? : KHFGS
(a) SIGHT

(b) FIGHT

(c) MIGHT

(d) LIGHT

Q36. f=r fu e fosreat & & fomm s1sg i
EREEAISD)

(a) 39-59
(b) 45-25
(c) 67-47
(d) 53-33

Q37. facer: fr=r fau o foshedt & &
e T J1d i
42:56::110:7?

(a) 132

(b) 136

(c) 140

(d) 18

Q38. frder: e 2oft & qw we 3
A

9,16, 25, 36, ?, 64

(a) 56
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(b) 49
(c) 80
(d) 72

Q39. afg A umEr? D &I, BT 7€ & C %,
Clag D&, DIRTEB AL, ATAFBH
AT Y B?

(a) HraT

(b) TS

(c) HideAT 2T

(d) =&

Q40. TS : Fr=ferfiaa wsit § uah wisg 3
Ik AT IR 31 I1e¢ faU MU &) 39 9 T
fow Ta w1eg o ST | TR ST ST TRl 39
764 T J1d IS

85.SUPERIORITY

(a) PURSE

(b) PURSUIT

(¢) PRIORITY

(d) PURITY

Q4 1. Directions : In these questions, the
first and last sentence of the passage are
numbered (1) and (6). The rest of the
passage is split into four parts and named
P,Q,R,S . These four parts are not given
in proper order. Read the sentences and
find out which of the four combinations
is correct.

(1) Money Is not the root of all evils.
(P)Or, what about the desire for power
driving people to horrible crimes ?
(Q)Even purposeless cruelty can be seen in
many instances of evil behaviour.

(R)For example, neither teachers nor
parents profit in any way by torturing
children.

(S)The evils of sexual offenders are not
motivated by financial gains.

(6) We can only Say that money is the root
of some evil.

QRPS

SPQR

RSPQ

QPRS

Q42. Direction : The sentence are given
below with a blank . Fill the blank with an

appropriate word.

At great length that night they
the feasibility of their plans
discussed about

discussed

discussed regarding

discussed on

Q43. Directions : In these questions
choose the word opposite in meaning to

the word given in bold.

PANICKY
confident
sober
quiet
calm

Q44. Directions : In these questions, the
first and last sentence of the passage are
numbered (1) and (6). The rest of the
passage is split into four parts and named
P,Q,R,S . These four parts are not given
in proper order. Read the sentences and
find out which of the four combinations

is correct.

(1). When she got to her house, there was
nothing to retrieve.

P.All valuables were smashed or stolen
Q.The curtains were burned books, were
ripped to shreds

R.Her medals and trophies had been flung
everywhere

S.The house had been completely ransacked
(6).Mrs. M stood in the centre of her
bedroom looking at a ruined copy of the
Koran forcing back her tears

PQRS

PRQS

SPRQ

RSQP

Q45. Direction : The sentence are given
below with a blank . Fill the blank with an
appropriate word.

She had frequent toothaches So she
decided to

remove her teeth

removing her teeth

have her teeth removed

having her teeth removed

Q46. Directions : In these questions
choose the word opposite in meaning to

the word given in bold.

OBSTINATE
confused
determined

trusted
flexible

Q47. Directions : In these questions, the
first and last sentence of the passage are
numbered (1) and (6). The rest of the
passage is split into four parts and named
P,Q.R,S . These four parts are not given
in proper order. Read the sentences and
find out which of the four combinations
is correct.

(1). One Botany professor always tried to
convince his students that his branch of
biology is superior to all the others

P.His most persuasive argument, however,
came during a laboratory session

Q.And they don’t eat very much
R.Examining the cells of a pear, the
professor cut a slice for the microscopic
slide and took a bite of the rest of the
specimen

S.Plants, he noted never run away or bite
(6). “You won’t be doing that in a Zoology
lab," he said.
PRSQ

SQPR

PSRQ

SQRP

Q48. Direction : The sentence are given
below with a blank . Fill the blank with an
appropriate word.

He was accept the grudgingly

given invitation.
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Not enough sensible to
Sensible enough to
Sensible enough not to

Sensible enough to not

Q49. Directions : In these questions
choose the word opposite in meaning to

the word given in bold.

PRUDENT
silly
unwise
idiotic

poor

Online Tests
Latest Pattern | Detailed solutions | Click Here

Q50. Directions : In these questions, the
first and last sentence of the passage are
numbered (1) and (6). The rest of the
passage is split into four parts and named
P,Q,R,S . These four parts are not given
in proper order. Read the sentences and
find out which of the four combinations
is correct.

(1)It was nine o'clock in the evening and
Rajan was reading.

P.At first he thought nothing of it.

Q.The walls were a moving mass of big
ants.

R.Suddenly, he heard faint noises.
S.When he went to his bedroom later,
however, he was shocked by what he saw.
(6) They covered everythingthe book case,
the shelves, the chest of drawers.

PSRQ

SRPQ

RPSQ

QSRP

Q51. 9Ra & e+ e i & o
frrag ...

(a) TETT

(b) &

(c) ST

(d) Sete

Q52. g T e ez hr &2
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(a) iR
(b) e
(c) I
(d) Sideet

Q53. et fAvte" & Terfar §
(a) gamafa

(b) 3

(c) Trarierm

(d) Afer™

Q54. "IeUT T AT SN feRaehT
Hia 82

(a) W] WO

(b) 39T firiereT

(c) qoTTeT AU

(d) femart

Q55. &0 vTeg kT feretra =T B2
(a) T

(b) Feeft

(c) gt

@ F=

Q56. Hiftges rfirsath 6 T U & &ia-
ot farfer sfera =t &2

(a) G A=

(OEEELRIC

(c) THAT =

(d) |19 ==

Q57. 'SV ITeg T WL 31 AT B2
(a) G KT ST

(b) T=r=tor 3 STt

(c) fers =T fomam &t aret

(d) STTRTE T LA AT

Q58. TAH U I HAT Fiwel T ISTET
gl

(a) Fowet

(b) TIHR

(c) Tohfera

(d) 78 & 1S T

Q59. W faferaw wierst Y TATuAT wHat
kel

\(Da) AGTH

OEIELH
(c) feeett
(d) FTThTaT

Q60. IATAT o TARET R &2
(a) SifeRTErs =restt

(b) =AY 3R

(c) B AT fgadt

(d) FETHAR e

Q61. TF TEH Uk Sk § HTLROT ST
TWH 479 % AUz 500 3R 3 a9 & faw s,
600 ST T 8 AT T FeA SATS BT, 190 TTH
BIdT & SATST 3 STfYep &€ sdTd

(@) 4%

(b) 5%

(©) 2%

(d) 3%

Q62. =g I i 3t Mt , e = 6
uft.,g Tft, 37T 10 [T, &, T UoreIeR weh
T3 31E T o ®9 H ST 7T 81 7 1A ol

G R
(a)4 T

(b)6 Tl
(c)8 Tt

(d)12 Tt

Q63. wm T T 1 ofed =it sen
1 1 7T 21 Afe = w5 2
A =gl HE 1 L2

4.5

5

2

4

Q64. AT A T B R Tideafed &1 2
TET BA %1 fsi=g P de s1gT1 T PT 9T PQ
T3t @ FPTAT PQ % sfte gwaryy wnifua
EZV.

(a) PT =2PQ

(b) PT <PQ

(c) PT>PQ

(d) PT=PQ
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Q65. A, B 3 C Ush IR H €IZER 8] A
LAY o AT % 4000 TMEI 2| B AT H &
6000 AT 2 fSr 9 |18 o 1= T 8000 T
AT 2| SFEfeh C 3TRFT H & 8000 T & T
9 HTE o 1= § & 2000 ehTet i 81 a9 &
ST H ITH & 16950 o AT H T Tk o7 f&eam
RISV

(a) & 3600, & 6600, & 6750

(b) 2000, & 33050, & 55400

(c) & 2450, & 2460, & 1456

(d) 3 9 IS T

Q66. P Tt s T 1/4 90T 10 fei &
TUTH T ThdT & Q IHT HTH T 40%, 145 &7
T GOTH T kT 21 R w1 T 1/3 907 13 faat
T qUT S T T 1/6 9T 7 fe=T & qTe o6
HohdT 2, 1 i Tadl U8t h1H Weq HT?

P

Q
R
S

Q67. Tt 15 e, afera aret Byt forsht
3F=: g bt Porsam 3 {2, T TR 9 §Y
e w81 3 fem &1 sma= 270 Tt 2,
qs TSrem it =S a2

(a) 6 THT

(b) 7.5 Tt
(c)10 Tt

(d)12 &l

Q68. Tt ffia emufir ™ 4% anfs &
2 TN o HTETOT SATST AT <shald] S2TST sl
ARE 10 AT e TR

(a)& 6000

(b) ¥ 6250

(c) & 5600

(d)¥ 6500

Q69. 31 EEATSAT T I 384 & AT IhT
T, 48 7, AT HEHTAY T I 7 B2

(a) 100

(b) 192

(c) 288

(d) 336

Q70. %13 g foret ey savet it T A
499 A%, 2400 T F. 3264 T ST 2| AT ST
T 1% =T 21 1Y, F et am | Tt o fSha
|1 STEm?

(a)%. 3,288

(b) & 3,312

(¢) %. 3,340

(d) & 3,360

Q71. Tt SToIThR T & T T T8
19.2 #iex ? o7 guehl S=rg 2.8 Hix 2 3|
T ST, THTH o FoTT Shefar T &eT
(anfefieT o) T B2

(2)3017.1

(6)3170

(¢)301.7

(d)30.17

Q72. TIar 6l aH 377, 36k T Al AT
1 A AT & 3 3 Sferk 21 <ff o s, forar
T 3T, 36k T 1 S 6 AT H 10 a6
fereh 81 fyar it 311?3%

33 a9

39 T

4599

40 o¥

Q73. A ABCH, ZABC @91 LZACB &
3Tt St foreg [ o fiverd 8 qem £ BAC

=50° ,ZBIC T 0 J1d &2
(a) 105°
(b) 115°
(c) 125°
(d) 130°

Q74. AT B A 7 : 9 o U # GSft

HTZRT H e 2 8 i 7 91 A ST

St 2T 2/3 AT forahTet T © Qe IR | SR
TS 18 B USiT HT 100/3% fefrer orerm 21 3t 9
HTE o 3 H el & 10201 T A AT, AT

I TAF T e T g

(a) ¥ 3535, % 6666

(b) 3055 ,% 5555

(c) T 4503 , % 1345

(d) ¥ 3545, % 3333

Q75. F =t forelt o i 12 Tt & s
T T 8, AN SN ATk 38 W T o
et & T T FRa 2

9feT

6t

5t

3t

Q76. fuufirg 3 e 1 &% 57cm’ qT
3418 10cm 81 ST FTd hi?

(a) 570

(b) 390

(c) 190

(d) 590

Q77. At a1t il T Tt 9 o foTT 4%
AT gEe e o f 5% aTfies T 6%
Fffer offer o o foru 2 | £9T 10000 ht
FIRT O 3 Y H Ashales, SATST &1 BT
(a) & 1600

(b) & 1625.80

(€)% 1575.20

(d)® 2000

Q78. ABCD =/3hi9 g4 &, AB 31 &

=9 81 9 LACD=50°, &, @ ZBAD &l
g

(a) 130°

(b) 40°

(c) 50°

(d) 140°

Q79. U =ARH 5 ¥ 15 fiFe am Far 2
Ife o8 vgelt 3meft A 60 o At e ser it
T & ST 31 45 foreft, wfer sier it nifer & shan
& 1 SEehT AT T e gl F1a

189 fopeft

378 ferdt

270 Toreft

7202/7 fereft

Q80. T d T dTe] UTSY sl &5k ohl WAt
FH T 40 e <rd R, Y 2d =308 ot a1gy
T 3ok ol WA T T feheHT T T2
(a) 5 e

(b) 10 i

(c) 20 fiFe

(d) 80 fime
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Q81. ITETHR WeMirg foher ITEh &
TERY o ?

(a) 3TIMH

(b) RrpaTT

(c) ferftaam

(d) TRy

Q82. Wy U=T ¥ uftrg frfercaen
"fteren" ferEreh TITE ShTeT | T oT 2
(a) SR

(b) ferferam

(c) T&5A

(d) TR

Q83. "guw stg @A T AT He
§31T21T?

(a) 3153. 0.

(b) 1158 9.4

(c) 4833. 9. #

(d) 2273 9.4

Q84. Tra® A HTA F 483 2. T,
"o Steg, W ST ST AT T ?
(a) FRrE

ORESIENE

OELIED

(d) FTATMH

Q85. wy Ty st IRy fera ferar o
?

(a) WEH TG

(b) AMH T

(c) Ex T

(d) faftsmm s

Q86. e o fUar T T ATH o7 2
(a) 3TMH

(b) FE5A

(c) AT

(d) ==TH

Q87. T yTaes I Wiy T <l Tk
ATHTS T TS TeH femaT ?

(a) foftaram s

(b) FMH

(c) F=H A

(d) STSTRE §

Q88. fagr o forT Tt & 1ol TR
el MR ET A ?

(a) Y

(b) SEFETH

(c) TFR T FeRie ™

(d) AT & AT &

Q89. TR el & T I T HEWTS
TTHETE ?

(a) ToriT 3 7=t

(b) TSR

(c) WHYX

(d) STIE Tt

Q90. fargr # T IE T I G el
ganan?

(a) 11035. 9

(b) 134530

(c) 1203%. %

(d) 143259

Q91. TEAUEEA fom sfeaar Raestt 3
TorER WX Uk GeT ATSHWOT e TohaT ot 2
(a) 1290%. 7
(b) 11923, 0
(c) 1256%. @
(d) 12035, %

Q92. TER & forE T W AW T5 F
$|1=|‘EITF|'§'GIT a1 ?

() Fortie

(b) for=atfar

(c) TSR

(d) Srermn

Q93. I TAUTHIUT hTeA ¥ Ar (eIl
It faer & fore samr & fireft 2 2
(a) 9Tt

(b) feria @)

(c) dEX

(d) §AR

Q94. fuer ¥ froent "faer v wed
2?2
OELUiE

(b) T
(c) SEA
(d) STerTET HT

Q95. faer & widta deepfa i werar
% forema & v TR R W A 2

(a) 3T A

(b) TTE

(c) Taférem

(d) SHIE Tt

Q96. wiwfEut aferoft S Afd Wi
TR AT o 98 Wtrek &, =g Afd fore wom
T Es oft ?

(a) AT &

(b) serRTH

(c) Sremist &

@ fo=sfaa

Q97. fumw & fore vorm & < aer it
ITH g3 off ?

(a) =TTt

(ORUESRE]

(c) Taforam

(d) T

Q98. fuer o "arerreaTy ufeat wel
Reag 2

(a) @?&Tﬁ

(b) TrRfATT H

(c) ST H

(d) gearis §

Q99. faer ¥ fto yrfim wTT U
"ATereaT forgferRrTer ™ | WTT ST "TeAH or
”

(a) &R

(b) Treft

() Rt

() 3
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Q100. ATerer frafaeme & uftg
AUt i o 2

(a) IS
(b) TeTTfEET
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(c) AT
(d) MR



